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NOI	vs.	NIBT	(Net	Income	Before	Taxes)	It’s	critical	to	understand	just	how	different	these	two	figures	can	be,	even	for	the	exact	same	property.	NIBT	(Net	Income	Before	Taxes)	NIBT	is	an	accounting	figure,	whether	we’re	talking	about	an	operating	business	or	an	investment	property.	It’s	the	total	revenue	minus	the	total	expenses.	For	real	estate,
revenue	is	(largely)	rental	income:	Total	Rental	Income	–	Total	Expenses	=	NIBT	Because	passive	income	tax	rates	tend	to	be	high	in	many	jurisdictions,	it’s	a	common	strategy	for	real	estate	investors	to	try	and	actively	inflate	expenses	in	order	to	drive	down	their	income	tax	bills.	Further,	where	an	investor	owns	multiple	properties,	net	income	(or
NIBT)	may	be	calculated	or	presented	at	the	portfolio	level.	This	also	makes	understanding	each	individual	property’s	profitability	(or	ability	to	generate	cash	flow)	difficult	to	understand.	(NOI)	Net	Operating	Income	NOI	is	a	metric	used	to	measure	the	operating	profitability	of	a	specific	property.	NOI,	like	EBITDA,	is	often	used	as	a	proxy	for
operating	cash	flow	when	calculating	debt	service	coverage	ratios	or	when	comparing	properties	to	calculate	estimated	market	values	(since	it	ignores	tax	rates	and	capital	structure	decisions).	The	best	way	to	think	about	NOI	is	that	a	number	of	add-backs	and	normalizations	are	required	to	understand	the	property’s	potential	return	for	an	investor.
Consider	the	following	scenarios	to	help	illustrate:	An	individual	investor	owns	a	commercial	property	and	this	person	generates	most	of	their	retirement	income	from	the	property.	Because	of	this,	they	may	take	a	very	high	management	fee	–	which	would	overstate	the	property’s	expenses	(and	understate	its	NIBT).	Were	an	institutional	investor	to
purchase	this	property,	they	may	charge	a	much	smaller	management	fee.	Is	one	management	fee	“correct”?	(not	necessarily).	Real	estate	investor	‘A’	likes	to	employ	maximum	leverage,	while	real	estate	investor	‘B’	never	uses	debt	at	all	(they	pay	cash	for	their	properties).	Assume	these	two	investors	each	owned	a	property	that	was	exactly	identical
in	all	material	respects	–	B’s	income	statement	would	have	no	“interest	expense”	(and	therefore	a	higher	NIBT)	than	investor	A,	whose	income	statement	has	a	high	interest	expense	(and	therefore	a	lower	NIBT).	Is	one	interest	expense	“correct”?	(again,	not	necessarily).	As	a	general	rule,	analysts	will	often	see	investors	and	accountants	look	to
understate	income	for	accounting	purposes	(since	it	means	a	lower	tax	bill),	but	they	will	often	seek	to	overstate	NOI	(since	it	implies	a	higher	property	valuation).	Normalizing	Expenses	to	Calculate	NOI	When	looking	to	calculate	a	property’s	NOI,	there	are	four	main	categories	of	expenses	that	must	be	understood.	These	are:	1.	Non	Controllable
Expenses	Examples	include	property	taxes,	utilities,	insurance,	maybe	snow	removal,	security,	or	concierge	services	(where	applicable).	These	are	considered	“non-controllable”	since,	if	they	aren’t	paid,	it’s	likely	a	breach	of	contract	between	the	landlord	and	the	tenant(s).	Non-controllable	expenses	are	cash	expenses	and	are	never	added	back	to
NIBT	when	calculating	NOI.	2.	Controllable	Expenses	NOI	and	NIBT	are	impacted	by	three	important	controllable	expense	categories.	These	are	repairs	&	maintenance,	management	fees,	and	interest.	They’re	controllable	in	the	sense	that	landlords	can	“defer”	maintenance	to	overstate	NIBT	(if	looking	to	sell,	for	example);	they	can	also	complete
spurious	repairs	or	maintenance	to	overstate	expenses	and	pay	less	tax.	Additionally,	property	owners	can	pay	themselves	as	much	or	as	little	as	they	want	in	management	fees.	And	finally,	using	debt	as	a	funding	source	is	optional,	so	interest	(while	an	actual	cash	expense)	is	one	that	may	or	may	not	appear	on	all	income	statements	depending	on	the
owner’s	preference	for	high-	or	low-debt	capital	structures.	Some	controllable	expenses	are	either	added	back	to	NIBT	(or	normalized)	to	arrive	at	NOI	–	we’ll	look	at	an	example	shortly.	3.	Non-Cash	Expenses	The	big	one	is	depreciation	expense.	Like	with	EBITDA	(for	corporate	finance),	depreciation	is	a	non-cash	expense	and	is	therefore	added	back
to	NIBT	when	calculating	NOI.	4.	“Hypothetical”	Expenses	An	important	example	is	what’s	called	a	“vacancy	allowance.”	While	many	commercial	properties	may	be	fully	tenanted	at	the	time	of	financing	or	acquisition,	most	commercial	real	estate	professionals	and	lenders	will	assign	a	vacancy	allowance	to	the	property.	Vacancy	allowances	are
expressed	as	a	percentage	of	rental	income,	and	they	simulate	hypothetical	“downtime”	where	the	property	may	sit	vacant	for	a	period	of	time	without	any	rental	income.	Vacancy	allowances	are	a	function	of	the	geography	and	the	property	type,	with	smaller	communities	and	higher	risk	property	classes	usually	commanding	a	higher	“hypothetical”
vacancy	rate.	NOI	Calculation	The	simplest	way	to	calculate	NOI	is	to	start	with	NIBT,	add	back	non-cash	and	controllable	expenses,	then	deduct	normalized	controllable	expenses	and	“hypothetical”	expenses.	Below	is	our	earlier	example,	but	adjusted	accordingly:	You’ll	notice	in	this	example	that	the	NOI	figure	of	$119,000	is	quite	different	from	the
NIBT	figure	of	$60,000;	it’s	fairly	common	to	see	some	discrepancy,	even	large	ones	like	this,	depending	on	the	various	circumstances	we	covered	earlier.	But	you	can	see	that	the	NOI	calculation	is	much	more	standardized	and,	therefore,	comparable	across	property	classes	and	geographies	(like	EBITDA).	More	Resources	Thank	you	for	reading
CFI’s	guide	to	NOI	(Net	Operating	Income).	To	keep	advancing	your	career,	the	additional	resources	below	will	be	useful:			Generate	Key	Takeaways	NOI	stands	for	“Net	Operating	Income”	and	measures	the	profitability	of	an	income-generating	property	prior	to	deducting	financing	costs	and	taxes.	Net	operating	income	(NOI)	is	before	financing
costs	and	income	taxes,	but	after	direct	property	expenses.	The	NOI	formula	adds	the	rental	income	and	ancillary	income	of	a	property,	and	then	subtracts	direct	operating	expenses.	NOI	measures	the	profitability	of	a	given	property	before	accounting	for	depreciation,	financing	costs	(interest),	income	taxes,	corporate-level	SG&A	expenses,	tenant
improvements,	and	capital	expenditures	(Capex).	The	NOI	is	the	cash	flow	component	of	the	cap	rate	metric,	wherein	the	NOI	of	a	property	is	divided	by	its	market	value.	How	to	Calculate	Net	Operating	Income	(NOI)The	net	operating	income	(NOI),	stated	in	simple	terms,	reflects	the	income	generated	by	a	property	after	subtracting	direct	operating
expenses.In	practice,	the	NOI	is	a	fundamental	real	estate	metric,	because	it	represents	a	standardized	measure	of	profitability	to	analyze	property	investments.By	determining	the	historical	profitability	of	a	property	investment—which	offers	insights	into	the	profit	potential	of	the	property	on	a	pro	forma	basis—the	net	operating	income	(NOI)
facilitates	better-informed	investing	decisions.NOI	is	not	only	a	practical	measure	to	analyze	the	profitability	of	a	given	property,	but	also	well-suited	for	comparability	among	different	property	investment	opportunities	(i.e.	closer	to	“apples-to-apples”	comparisons),	since	the	metric	neglects	financing	costs,	debt	service,	and	capital	expenditures
(Capex).Net	Operating	Income	(NOI)	FormulaThe	net	operating	income	(NOI)	formula	is	the	sum	of	the	property’s	rental	income	and	ancillary	income,	subtracted	by	its	direct	operating	expenses.Net	Operating	Income	(NOI)	=	(Rental	Income	+	Ancillary	Income)	–	Direct	Operating	ExpensesThe	NOI	formula	strives	to	isolate	the	core	operating	profits
of	real	estate	assets	to	avoid	muddying	the	waters	with	non-operating	items	such	as	corporate	overhead	and	non-cash	items	such	as	depreciation.However,	the	expenses	that	do	not	impact	net	operating	income	(NOI)	are,	in	fact,	just	as	important	as	what	expenses	factor	into	the	metric.In	particular,	understand	that	the	NOI	metric	is	intended	to
capture	profitability	before	any	depreciation,	interest,	income	taxes,	corporate-level	SG&A	expenses,	capital	expenditures	(Capex),	or	financing	costs.Most	real	estate	companies—such	as	real	estate	investment	trusts	(REITs)	and	real	estate	private	equity	(REPE)	firms—own	multiple	properties	in	their	portfolios.	Therefore,	accurately	analyzing	NOI
requires	isolating	property-level	profitability.Prologis	REIT	Real	Estate	Segment	(RES)	–	NOI	Example	(Source:	PLD	10-K)NOI	vs.	EBITDA:	What	is	the	Difference?The	net	operating	income	(NOI)	and	earnings	before	interest,	taxes,	depreciation,	and	amortization	(EBITDA)	are	both	non-GAAP	financial	measures	widely	used	in	their	respective
industries.	Net	Operating	Income	(NOI)	→	The	NOI	metric	is	used	in	the	real	estate	sector	to	measure	a	property’s	potential	profitability.	The	formula	to	compute	NOI	starts	with	calculating	a	property’s	effective	gross	income	(EGI)	and	subtracting	the	direct	operating	expenses,	such	as	maintenance	costs,	repair	fees,	property	management	costs,
utilities,	and	property	taxes.	Notably,	the	NOI	metric	neglects	debt	service	payments,	interest	expense,	capital	expenditures	(Capex),	depreciation,	and	income	taxes.	EBITDA	→	The	EBITDA	metric	is	a	widely-used	measure	of	operating	profitability	used	to	analyze	the	operational	performance	of	companies	in	most	industries.	EBITDA	can	be	calculated
as	operating	income	(EBIT)	plus	depreciation	and	amortization	(D&A)	or	net	income	plus	interest,	taxes,	and	D&A.	Because	EBITDA	is	independent	of	the	capital	structure	decision	(i.e.	the	percent	mixture	of	debt	and	equity	to	fund	operations),	tax	jurisdiction,	and	discretionary	management	decisions	(e.g.	the	useful	life	assumption	of	fixed	assets),
the	non-GAAP	metric	provides	a	clear	picture	of	the	operating	performance	of	a	company	in	terms	of	its	operational	efficiency	and	profitability.	What	is	a	Good	NOI	for	a	Rental	Property?The	net	operating	income	(NOI)	of	a	rental	property	offers	practical	insights	into	the	profitability	of	an	investment,	which	has	broad	implications	for	the	implied
valuation.However,	a	“good”	NOI	is	relatively	subjective	and	contingent	on	several	factors,	including	the	property	type,	the	location,	and	the	current	state	of	the	real	estate	market.Still,	as	a	general	rule	of	thumb,	a	rental	property	that	generates	a	positive	NOI	in	excess	of	comparable	properties	is	perceived	positively	by	market	participants.On	the
other	hand,	a	property	with	a	negative	NOI	signifies	the	property	is	unprofitable,	and	thus	costs	more	to	operate	the	property	than	the	amount	it	earns	in	income	on	behalf	of	the	investor.To	further	determine	the	merits	of	a	rental	property	using	NOI,	real	estate	investors	often	compare	NOI	to	the	market	value	of	the	property	(or	the	purchase	price,
at	times).Comparing	the	NOI	of	a	rental	property	to	its	market	value	at	present	yields	the	capitalization	rate,	or	“cap	rate”.	Like	NOI,	the	cap	rate	is	a	foundational	metric	used	by	real	estate	investors	to	analyze	the	viability	of	potential	investments.The	formula	to	determine	the	cap	rate	is	the	ratio	between	net	operating	income	(NOI)	and	the	property
value.Cap	Rate	(%)	=	Net	Operating	Income	(NOI)	÷	Property	ValueBy	rearranging	the	formula,	the	estimated	property	value	can	be	derived.Implied	Property	Value	=	Net	Operating	Income	(NOI)	÷	Cap	Rate	(%)For	example,	if	the	net	operating	income	(NOI)	of	a	property	is	$4	million	and	its	cap	rate	is	10%,	the	implied	property	value	is	$40	million.
Implied	Property	Value	=	$4	million	÷	10%	=	$40	million	Generally	speaking,	properties	with	a	cap	rate	of	4%	to	12%	are	considered	attractive	investment	opportunities,	but	the	surrounding	details	(e.g.	location,	property	type)	are	all	factors	that	ultimately	determine	the	outcome.Contrary	to	common	misconception,	a	higher	cap	rate	is	not	the
priority	of	all	real	estate	investors,	because	higher	potential	returns	coincide	with	greater	risk,	per	usual.Therefore,	the	target	cap	rate	depends	on	the	specific	investment	firm’s	strategy	regarding	their	returns	threshold	and	appetite	for	risk.What	is	a	Good	NOI	Margin?For	comparability,	the	net	operating	income	(NOI)	must	be	standardized	into	a
margin	(to	be	“apples-to-apples”).The	NOI	margin	is	a	profitability	ratio	that	measures	the	operating	efficiency	of	a	property	and	is	calculated	by	dividing	net	operating	income	(NOI)	by	the	total	property	revenue.NOI	Margin	(%)	=	Net	Operating	Income	(NOI)	÷	Property	RevenueThe	resulting	figure	must	be	multiplied	by	100	to	express	the	margin	as
a	percentage.Conceptually,	the	NOI	margin	answers	the	question,	“How	much	of	each	dollar	earned	in	revenue	is	kept	as	net	operating	profits	(NOI)?”The	higher	the	NOI	margin,	the	greater	the	proportion	of	property	revenue	converted	into	net	operating	income	(NOI),	and	vice	versa.	Higher	NOI	Margin	(%)	➝	Operational	Efficiency	Lower	NOI
Margin	(%)	➝	Operational	Inefficiently	But	rather	than	analyzing	the	NOI	margin	on	a	standalone	basis,	the	profit	margin	should	be	compared	to	similar	properties	in	terms	of	property	type,	class,	and	location	to	have	a	relative	benchmark	to	underpin	the	comparative	analysis.NOI	CalculatorWe’ll	now	move	on	to	a	modeling	exercise,	which	you	can
access	by	filling	out	the	form	below.	NOI	Calculation	ExampleSuppose	we’re	tasked	with	calculating	the	net	operating	income	(NOI)	of	the	real	estate	segment	of	Prologis	(NYSE:	PLD)	in	fiscal	years	2021	and	2022	using	the	following	data.	Select	Financial	Data	–	Real	Estate	Segment	(RES)	($	in	millions)	2021A	2022A	Rental	Revenues	$4,148	$4,913
Development	Management	and	Other	Revenues	$20	$21	Rental	Expenses	($1,041)	($1,206)	Other	Expenses	($22)	($40)	The	NOI	formula’s	revenue	component	is	the	sum	of	“Rental	Revenues”	and	“Development	Management	and	Other	Revenues,”	while	the	direct	operating	expenses	component	is	the	sum	of	“Rental	Expenses”	and	“Other
Expenses.”For	2021	and	2022,	net	operating	income	(NOI)	for	the	real	estate	segment	(RES)	is	$3,105	million	and	$3,688	million,	respectively.	Net	Operating	Income	(NOI),	FY-2021	=	$4,148	million	+	$20	million	–	$1,041	million	–	$22	million	=	$3,105	million	Net	Operating	Income	(NOI),	FY-2022	=	$4,913	million	+	$21	million	–	$1,206	million	–
$40	million	=	$3,688	million	In	conclusion,	the	net	operating	income	(NOI)	of	the	real	estate	segment	of	Prologis	grew	by	approximately	$583	million	year-over-year	(YoY)	from	2021	to	2022,	at	an	implied	growth	rate	of	18.8%.	Net	Operating	Income	(NOI)	–	YoY	Growth	Rate	=	($3,688	million	÷	$3,105	million)	–	1	NOI	–	YoY	Growth	Rate	=	18.8%	All
BlogsAccounting	ResourcesNet	Operating	IncomeGross	and	Net	MetricsGross	and	Net	MetricsBOOT	CAMP	-	Financial	Modeling	(6	Hrs)Boot	Camp:	LEARN	Financial	Modeling	in	Just	6	Hours!Table	Of	Contents	Net	Operating	Income	(NOI)	is	a	measure	of	profitability	that	represents	the	amount	the	company	has	earned	from	its	core	operations	and	is
calculated	by	deducting	operating	expenses	from	operating	revenue.	It	excludes	non-operating	expenses	such	as	loss	on	the	sale	of	a	capital	asset,	interest,	tax	expenses,	etc.	This	is	different	from	that	of	net	income,	as	net	income	is	bottom-line	profit	calculated	after	considering	all	expenses	and	revenues.	Extraordinary	gains	and	losses,	which	are
one	time,	Interest,	and	taxes,	can	distort	the	net	income	sometimes,	which	will	provide	a	different	picture	of	the	business	than	it	is	in	reality.	Net	Operating	income	reflects	the	effectiveness	of	the	business’s	core	operating	performance.	It	does	not	include	revenue	from	the	activities	which	are	not	directly	related	to	the	business,	such	as	income	from
investment,	gain	on	the	sale	of	a	capital	asset,	etc.	The	concept	of	net	operating	income	is	essential	for	the	creditors	and	the	investors	of	the	business	as	it	gives	them	a	clear	picture	of	the	working	of	the	business	that	how	effectively	the	operations	of	the	organization	is	performed	and	how	much	income	is	generated	from	the	core	business	activities	of
the	business.	Net	operating	income	is	a	profitability	metric	used	to	calculate	the	gains	made	from	an	income	generating	property.	It	is	calculated	by	deducting	operating	expenses	of	the	property	from	the	operating	revenue.The	parties	related	to	the	business	like	creditors,	investors,	and	the	management	use	the	net	operating	income	calculator
measure	to	analyze	and	evaluate	the	profitability	and	efficiency	of	operations,	prospects,	and	overall	health	of	the	business.	The	higher	the	company's	net	operating	income,	the	higher	the	chances	of	the	company	surviving	in	the	future	and	paying	debts	and	returns	to	the	lenders	and	investors,	respectively.The	increasing	trend	in	this	number	of
operating	income	indicates	that	there	is	more	scope	for	the	company	to	grow	in	the	future	and	vice	versa.	Creditors	and	investors	always	want	to	deal	with	the	increasing	trend	of	the	company	as	the	possibility	of	getting	a	higher	return	is	higher	in	that	type	of	business.The	formula	to	derive	the	profits	made	from	a	revenue	making	property	and	to
employ	the	net	operating	income	calculator	is:	NOI	Formula	=	Operating	Revenue	-	Operating	Expense	NOI	Formula	=	Operating	Revenue	-	COGS	-	SG&A	Operating	revenue	is	the	revenue	generated	from	day	to	day	operations	of	a	business.	We	can	take	the	example	of	a	company	involved	in	the	business	of	selling	mobile	phones.	Now	in	a	financial
year,	a	company	has	sold	mobiles	worth	$500,000	and	equipment	at	$100,000,	earning	a	profit	of	$5000.	In	the	given	case,	only	$500,000	is	operating	revenue	as	it	is	only	related	to	the	core	activity	of	the	business,	and	profit	on	the	sale	of	equipment	is	not	a	part	of	operating	revenue.	The	operating	revenue	doesn’t	include	income	from	extraordinary
activities.Operating	expenses	include	all	the	costs	or	expenses	which	are	directly	related	to	the	business	activity.	In	other	words,	operating	expenses	include	all	types	of	cost,	which	is	required	to	be	incurred	in	running	the	day	to	day	operations	of	the	business.	Some	of	the	examples	of	operating	expenses	are	Salary	&	Wages,	Raw	material	cost,	Power
&	fuel,	Rent,	utilities,	Freight	and	postage,	and	advertising.	Operating	Expenses	exclude	Income	taxes,	losses	from	the	sale	of	assets,	interest	expense,	etc.	For	instance,	suppose	you	paid	$300,000	in	cost	of	goods	sold,	$15,000	in	wages,	$25,000	in	Rent,	$4,000	in	utilities,	$1,500	in	interest	and	$28,000	in	income	taxes.	Your	total	operating	expenses
are	$344,000,	which	excludes	the	interest	and	income	taxes.Let	us	understand	the	steps	to	calculate	the	Net	Operating	Income	theory	with	the	help	of	Colgate	Example.If	there	are	revenue	sources	other	than	the	core	operations	of	the	business,	then	you	must	exclude	those	items.	Find	the	Operating	Revenue	-	Identify	the	core	revenue	of	the	business
as	given	in	the	income	statement.	Then,	read	through	the	annual	report	to	see	what	else	is	included	in	the	company's	Sales	/	Net	Sales	figures.We	note	that	sales	of	Colgate	were	$16,034	million	in	2015	and	$17,277	million	in	2014.	Remove	other	revenues	from	these	items	-	If	there	are	revenue	sources	other	than	the	core	operations	of	the	business,
then	you	must	exclude	those	items.In	Colgate,	we	don't	have	any	such	items.	Find	the	Operating	Expense	-	Operating	Expense	can	be	easily	identified	from	the	income	statement.	It	is	the	total	Cost	of	Goods	Sold	and	Selling,	General,	and	Admin	expenses.	Any	other	expense	that	is	directly	related	to	the	business	should	be	included.	All	other	expenses
should	be	excluded	from	the	net	operating	income	calculation	formula.	In	Colgate,	we	note	thatOperating	Expense	(2015)	=	COGS	+	SGA	=	$6,635	+	$5,464	=	$12,099	millionOperating	Expense	(2015)	=	COGS	+	SGA	=	$7,168	+	$5,982	=	$13,150	million	Remove	other	expenses	not	related	to	the	business	-	Other	expenses	unrelated	to	the	business
should	be	not	included	in	the	calculation	of	Net	Operating	Income	In	Colgate,	there	is	another	expense	of	$62	million	in	2015	and	$570	million	in	2014,	respectively.	In	addition,	do	not	include	the	non-recurring	charges	of	Venezuela	accounting	changes	of	$1084	million	Use	NOI	formula	Colgate's	NOI	(2015)	=	$16,034	million	-	$12,099	million	=
$3,935	millionColgate's	NOI	(2014)	=	$17,277	million	-	$13,150	million	=	$4,127	million	Let	us	understand	the	concept	of	net	operating	income	theory	in	depth	with	the	help	of	an	example.Let's	take	the	example	of	a	pizza	outlet	owned	by	Mr.	X	in	California	that	cooks	the	best	pizza	in	their	area.	Mr.	X	is	working	on	the	refinancing	of	his	current	loans
with	a	nearby	bank,	so	he	needs	to	calculate	NOI.	After	analyzing	the	accounting	system,	Mr.	X	analysis	the	following	income	and	expenses	incurred	in	the	business:	Sales:	$180,000	Cost	of	goods	sold:	$40,000	Salary	&	Wages:	$35,000	Rent:	$15,000	Insurance:	$20,000	There	has	been	a	fire	in	the	pizza	outlet	during	the	financial	year.	Loss	on	fire
estimated	to	be	$45000.	Unfortunately,	the	insurance	company	failed	to	cover	all	the	damages.	Therefore,	Mr.	X	would	calculate	his	operating	income	like	this:Now	Mr.	X	will	deduct	all	the	expenses	from	the	revenue,	getting	$70,000	as	a	profit	from	operations.	Here	the	loss	on	fire	of	$45,000	is	not	included	because	it	is	an		extraordinary	business
loss,	not	an	operating	activity.	Therefore,	Mr.	X	will	report	$70,000	as	his	net	operating	income,	not	$25000	($70,000-	$45000)	Net	operating	income	(NOI)	shows	the	profitability	of	income-generating	real	estate	investments.	NOI	includes	all	revenue	from	the	property,	minus	necessary	operating	expenses.	However,	NOI	is	a	before-income-tax	figure
on	a	property’s	income	and	cash	flow	statement,	excluding	principal	and	interest	payments	on	loans,	capital	expenditures,	depreciation,	and	amortization.	Net	operating	income	(NOI)	measures	an	income-producing	property’s	profitability.To	calculate	NOI,	subtract	all	operating	expenses	incurred	on	a	property	from	all	revenue	generated.NOI	helps	a
property	owner	determine	if	renting	a	property	is	worth	the	expense	of	owning	and	maintaining	it.	Jessica	Olah	/	Investopedia	NOI	looks	at	the	total	revenue	vs.	the	total	operating	expenses	of	a	rental	property.	Revenue	is	income	from	rent,	parking	or	storage	fees,	and	on-site	vending	machines	or	laundry	services.	Operating	expenses	include
maintenance	and	repairs,	property	taxes	and	insurance,	property	management	fees,	janitorial	services,	and	utilities.	Capital	expenditures,	such	as	costs	for	a	new	air	conditioning	system	for	the	entire	building,	are	not	included	in	NOI.	NOI	is	used	to	calculate	the	capitalization	rate,	a	measure	of	an	investment	property's	profitability	relative	to	its	total
cost.	The	cap	rate	is	calculated	by	dividing	the	NOI	by	the	property's	total	cost.	Expressed	as	a	percentage,	the	capitalization	rate	helps	investors	compare	the	returns	of	different	properties.	For	financed	properties,	NOI	is	also	used	in	the	debt	coverage	ratio	(DCR),	which	tells	lenders	and	investors	whether	a	property’s	income	covers	its	operating
expenses	and	debt	payments.	NOI	is	also	used	to	calculate	the	net	income	multiplier,	cash	return	on	investment,	and	total	return	on	investment.	Net	operating	income	=	R	R	−	O	E	where:	R	R	=	real	estate	revenue	O	E	=	operating	expenses	\begin{aligned}	&\text{Net	operating	income}	=	RR	-	OE	\\	&\textbf{where:}\\	&RR=\text{real	estate
revenue}\\	&OE=\text{operating	expenses}\\	\end{aligned}	​Net	operating	income=RR−OEwhere:RR=real	estate	revenueOE=operating	expenses​	The	following	information	is	an	example	of	a	rental	condominium:	Revenue:	Rental	income:	$20,000Parking	fees:	$5,000Laundry	machines:	$1,000	Total	Revenues	=	$26,000	Operating	Expenses:	Property
management	fees:	$1,000Property	taxes:	$5,000Repair	and	maintenance:	$3,000Insurance:	$1,000	Total	Operating	Expenses	=	$10,000	The	net	operating	income	(NOI)	is	$26,000	-	$10,000	=	$16,000.	An	owner	who	collects	$120,000	in	revenues	and	incurs	$80,000	in	operating	expenses	will	have	a	resulting	NOI	of	$40,000	($120,000	-	$80,000).	If
the	total	is	negative,	with	higher	costs	than	revenues,	the	result	is	called	a	net	operating	loss	(NOL).	Creditors	and	commercial	lenders	rely	heavily	on	NOI	to	determine	the	income	generation	potential	of	a	mortgaged	property.	NOI	helps	lenders	forecast	a	property’s	cash	flows.	If	a	property	is	profitable,	the	lenders	also	use	this	figure	to	determine
the	amount	they	are	willing	to	lend.	Lenders	may	reject	a	mortgage	application	if	a	property	shows	a	net	operating	loss.	Property	owners	can	manipulate	operating	expenses	by	deferring	certain	expenses	while	accelerating	others.	NOI	can	also	be	increased	by	raising	rents	and	other	fees	while	decreasing	operating	costs.	If	an	apartment	owner
waives	a	tenant’s	yearly	$12,000	rent	in	exchange	for	that	renter	acting	as	a	property	manager,	valued	as	a	$30,000	cost,	the	owner	may	subtract	the	cost	from	the	revenue.	Net	operating	income	estimates	the	potential	revenue	from	an	investment	property.	However,	it	does	not	account	for	costs	such	as	mortgage	financing.	NOI	is	different	from
gross	operating	income.	Net	operating	income	is	gross	operating	income	minus	operating	expenses.	NOI	is	not	a	percentage	but	a	number	that	weighs	the	revenues	against	the	expenses	of	a	property.	It	can	be	compared	to	the	property’s	value	as	if	it	had	been	paid	in	cash.	In	this	case,	the	higher	the	net	operating	income	to	property	price
percentage,	the	better.	Net	operating	income	(NOI)	can	assess	a	property's	profitability.	The	calculation	involves	subtracting	all	operating	expenses	on	the	property	from	all	the	revenue	generated	from	the	property.	The	higher	the	revenues	and	the	smaller	the	costs,	the	more	profitable	a	property	is.	Updated	October	11,	2023Net	Operating	Income
Meaning	Net	operating	income	(NOI)	subtracts	the	total	operating	expenses	(COGS,	SG&A)	from	the	total	operating	revenue	to	measure	profitability,	i.e.,	the	amount	of	money	an	organization	earns	from	its	core	business	operations.	Table	of	Contents	The	formulas	to	calculate	the	net	operating	income	are	as	follows.	#1:	Net	Operating	Income
Formula	=	Operating	Revenue	–	Operating	Expenses	Where,	Operating	Revenue:	Income	from	business’s	day-to-day	operations	or	rental	property.	Operating	Expenses:	Costs	required	to	run	the	business’s	day-to-day	operation	and	property	maintenance.	#2:	Net	Operating	Income	Formula	=	Operating	Revenue	–	COGS	–	Selling,	General,	&
Administrative	Expenses	Where,	COGS:	Total	expenses	for	producing	or	purchasing	the	goods.	Selling,	General,	&	Administrative	Expenses:	Company’s	day-to-day	operational	costs,	excluding	the	production	costs.	How	to	Interpret	Net	Operating	Income?	The	net	operating	income	formula	is	commonly	used	in	the	real	estate	industry.	Interpreting	it	is
very	simple.	The	higher	the	NOI,	the	more	the	profitability	of	the	asset.	A	consistent	decline	in	NOI	can	mean	that	the	profitability	is	decreasing.	To	improve	NOI,	the	firm	can	increase	revenue	sources,	reduce	operating	costs,	or,	in	extreme	cases,	sell	the	property.	Examples	Let’s	understand	how	to	use	the	net	operating	income	formula	from	the
following	examples.	Example	#1:	Apple	Inc.	Let’s	consider	Apple	Inc.’s	financial	data	from	its	2022	annual	report	to	calculate	its	net	operating	income.	(Image	Source:	Annual	Report	2022)	Given:	Solution:	Step	1:	Let’s	use	the	below	formula	to	calculate	the	operating	expenses.	Operating	Expense	=	Research	and	Development	+	Selling,	General	and
Administrative	=	$26,251M	+	$25,094M	=	$51,345M	Step	2:	Now,	we	will	calculate	the	net	operating	income	using	the	formula	below	Net	Operating	Income	Formula	=	Total	Net	Sales	–	Total	Cost	of	Sales	–	Operating	Expenses	=	$394,328M	–	$223,546M	–	$51,345M	=	$119,437M	Therefore,	Apple	Inc.	generated	a	net	operating	income	of
$119,437M	in	2022.	Example	#2	Consider	UrbanEstates,	a	real	estate	company	that	builds	luxury	homes	in	urban	areas.	The	company	wants	to	calculate	its	net	operating	income	for	2023	and	2022.	The	data	from	the	income	statement	for	the	two	years	2023	and	2022	is	as	follows.	Solution:	Step	1:	Let	us	first	calculate	the	total	operating	expenses	of
UrbanEstates	for	the	last	two	years	with	the	following	formula:	Operating	Expenses	=	Office	Rent	Management	&	Admin	Cost	+	Marketing	Cost	For	2023:	Operating	expenses=	$3,000	+	$1,500	+	$250	=	$4,950	For	2022:	Operating	expenses	=	$3,200	+	$2,500	+$200=	$5,900	Step	2:	Now,	we	will	find	the	net	operating	income	using	the	below
formula:	Net	Operating	Income	Formula	=	Operating	Revenue	–	Operating	Expenses	For	2023	=	$9,000-	$4,950	=	$4,050	For	2022	=	$10,000-	$5,900=	$4,100	Result:	The	net	operating	income	of	UrbanEstates	in	2023	was	$4,050,	and	in	2022	it	was	$4,100.	However,	if	we	analyze	closely,	we	can	see	a	decrease	in	sales	revenue	in	2023	($9,000)	as
compared	to	2022	($10,000).	Despite	this	$1,000	fall	in	revenue,	the	company’s	NOI	only	decreased	by	$50.	This	happened	because	the	company	managed	to	lower	its	rent	and	administrative	costs.	This	suggests	that	the	cost-cutting	strategies	implemented	by	the	company	were	effective.	Example	#3	Consider	a	businesswoman	who	owns	a
commercial	building	named	Tech	Plaza.	She	wants	to	know	the	net	operating	income	generated	from	her	building	property	in	2023.	The	following	are	the	details	of	financial	transactions	in	2023.	Solution:	Step	1:	Let’s	first	calculate	the	operating	revenue.	The	formula	to	calculate	operating	revenue	is	as	follows.	Operating	Revenue	=	Rental	Income	+
Vending	Machine	+	Parking	Fees	So,	Operating	Revenue	=	(Rental	rate	per	Sq.	ft.	x	Building	Spaces)		+	Vending	Machine	+	Parking	Fees	=	($50,000	x	20)	+	10,000	+	8,000	=	$1,018,000	Step	2:	Now,	let’s	calculate	the	total	operating	expenses	from	the	following	formula.	Operating	Expenses	=	Property	Taxes	+	Insurance	+	Maintenance	=	$25,000
+	$40,000	+	$15,000	=	$80,000	Step	3:	Finally,	let’s	calculate	NOI	with	the	following	formula.	Net	Operating	Income	Formula	=	Operating	Revenue	–	Operating	Expenses	=		$1,018,000	–	$80,000	=	$938,000	Result:	The	net	operating	income	from	Tech	Plaza	in	2023	is	$938,000	Example	#4	Suppose	a	company,	DFG	Ltd.,	which	manufactures
automobiles	and	exports	worldwide,	wants	to	calculate	the	net	operating	income	for	the	fiscal	year	2023.	The	following	are	the	data	extracted	from	the	income	statements.	Solution:	Step	1:	Let	us	first	calculate	the	cost	of	goods	sold	(COGS)	using	the	formula	given	below:	Cost	of	Goods	Sold	=	Labor	Wage	+	Cost	of	Raw	Material	=	$150,000	+
$200,000	=	$350,000	Step	2:	We	will	use	the	formula	below	to	calculate	the	net	operating	income:	Net	Operating	Income	Formula	=	Operating	Revenue	–	COGS	–	Selling,	General,	&	Administrative	Expenses	=$500,000		–	$350,000	–	($35,000	+	$25,000	+	$20,000)	=	$70,000	Therefore,	the	net	operating	income	of	DFG	Ltd	in	2023	is	$70,000.	How	to
Calculate	NOI?	Follow	the	below	steps	to	calculate	the	net	operating	income.	Step	1:	Firstly,	find	the	total	revenue	of	the	company	in	the	income	statement	or	compute	it	using	the	following	formula:	Total	Revenue	=	Number	of	Units	Sold	*	Average	Selling	Price	Per	Unit	Step	2:	Next,	you	can	easily	find	the	cost	of	goods	sold	in	the	income	statement.
You	can	also	calculate	it	using	the	following	formula:	Cost	of	Goods	Sold	=	Cost	of	Raw	Material	+	Direct	Labor	expense	Step	3:	Next,	determine	the	operating	expenses.	Typically,	selling	expenses	and	administrative	expenses	are	the	major	part	of	the	operating	expenses	of	a	company.	Step	4:	Finally,	substitute	the	values	in	the	formula,	Net
Operating	Income	=	Total	Revenue	–	Cost	of	Goods	Sold	–	Selling,	General,	&	Administrative	Expenses	Calculator	You	can	use	the	following	Net	Operating	Income	Calculator.	Net	Operating	Income	=	Operating	Revenue	-	Cost	of	Goods	Sold	-	Selling,	General,	&	Administrative	Expenses	0	-	0	-	0	=	0	Importance	The	net	operating	income	formula	is
important	for	the	following	reasons.	Profit	check:		It	lets	us	know	how	much	money	we	have	after	paying	all	the	expenses,	indirectly	revealing	the	profit.	Investment	health:	It	helps	us	understand	which	properties	are	more	profitable.	If	NOI	is	positive,	it’s	a	sign	of	good	investment,	indicating	that	earnings	are	more	than	costs.	But	if	it’s	negative,	it
means	expenses	are	more	than	earnings	or	profit,	indicating	financial	loss.	Decision	making:	It	guides	investors	in	making	informed	decisions.	For	instance,	if	the	expenses	are	higher,	one	can	increase	the	charge	for	rent	or	other	sources	to	cover	the	extra	costs.	Loan	approval:	When	applying	for	loans	from	banks	or	financial	institutions,	it	is
important.	Lenders	will	check	the	company’s	net	income	to	know	the	financial	health	and	to	ensure	they	can	repay	the	loan	amount.	Net	Operating	Income	Vs.	EBITDA	Vs.	Net	Income	Aspects	Net	Operating	Income	EBITDA	Net	Income	Definition	Net	Operating	Income	is	the	profit	a	business	or	property	generates	from	its	core	operations.	EBITDA	is	a
financial	metric	that	measures	a	company’s	profitability.	Net	Income	provides	the	company’s	total	profit	after	deducting	all	expenses,	i.e.,	financial	performance.	Formula	Revenues−Operating	Expenses.	Revenues−Operating	Expenses+Depreciation	&	Amortization	Revenues−Total	Expenses.	Includes	Depreciation	and	amortization.	–	Interest,	taxes,
depreciation,	and	amortization.	Excludes	Interest	expense	and	taxes.	Interest,	taxes,	depreciation,	and	amortization	expenses.	–	Uses	Useful	in	evaluating	operational	profitability	in	real	estate	and	specific	business	areas.	Comparing	companies	in	capital-intensive	sectors	and	is	useful	in	assessing	operational	performance.	Provides	a	comprehensive
view	of	the	company’s	overall	profitability,	like	key	metrics	in	income	statements.	Frequently	Asked	Questions	(FAQs)	Q1.	What	is	the	purpose	of	NOI	in	real	estate?	Answer:	In	real	estate,	the	NOI	is	generally	useful	for	determining	how	much	a	property	or	other	entity	can	profit	from	its	core	business	activities.	For	example,	you	can	evaluate	a
property’s	financial	health	and	potential	profit	by	deducting	all	related	operating	expenses	from	its	revenue.	In	addition,	creditors,	investors,	and	other	stakeholders	use	this	calculation	to	evaluate	the	business’s	operational	efficiency	and	make	informed	financial	decisions.	Q2.	Is	the	net	operating	income	formula	the	same	as	EBIT?	Answer:	Net
Operating	Income	formula	and	EBIT	are	not	the	same.	Net	operating	income	is	useful	in	real	estate	and	measures	property	profit.	It	deducts	all	operating	expenses	(except	interest	and	taxes)	from	operating	revenues.	In	contrast,	EBIT	is	a	broader	financial	metric	used	across	various	industries	to	understand	a	company’s	earrings.	It	shows	a
company’s	profitability	by	including	interest,	taxes,	and	other	non-operating	income.	Q3.	What	is	the	difference	between	net	operating	income	and	profit?	Answer:	The	key	difference	between	profit	and	NOI	is	as	follows.	NOI	summarizes	income	from	operations,	while	profit	represents	net	earnings.	NOI	considers	only	operational	costs,	while	profit
considers	all	costs,	including	operating	expenses,	debts,	and	loan	interest.	NOI	does	not	include	financial	burdens	like	loan	interest,	but	they	are	integral	to	profit	calculation	and	include	all	financial	expenses	and	taxes.	NOI	is	useful	in	real	estate	to	examine	property	performance,	while	profit	is	used	universally	to	evaluate	a	company’s	financial
standing.	Recommended	Articles	This	article	provides	an	overview	of	the	net	operating	income	formula,	including	practical,	real-life	examples.	You	can	refer	to	our	other	articles	to	learn	more.	In	real	estate,	net	operating	income	(NOI)	is	the	total	income	of	a	revenue-generating	property,	minus	the	total	operating	expenses.	Investors	use	the	net
operating	income	formula	figure	to	determine	the	profitability	of	a	property	and	to	help	make	investment	decisions.		The	total	income	includes	all	possible	streams	of	revenue	associated	with	the	property.	For	example,	a	rental	property’s	main	source	of	revenue	is	rental	income.	However,	other	sources	of	revenue	can	also	include	laundry	service,
parking	fees,	concierge	service,	vending	machines,	paid	fitness	classes,	and	other	services	offered	on	premises.		The	total	operating	expenses	include	costs	from	regular	maintenance	and	property	operations,	but	exclude	capital	expenditures.	Capital	expenditures	are	improvements	that	the	property	owner	decided	to	make,	wholly	or	partially,	in	the
premises—such	as	replacing	an	air	conditioner,	or	carpeting.	Typical	operating	costs	include	management	fees,	utilities,	janitorial	fees,	insurance,	legal	services	fees,	and	general	maintenance	repair	fees.	See	how	Revenue	Cloud	goes	from	quote	to	cash	on	one	platform,	giving	sales	and	finance	one	customer	view.	When	sales,	finance,	and	legal	are
disconnected,	the	customer	feels	the	pain.	Learn	how	Revenue	Cloud	can	help.	A	company	named	ABC	Cotton	sells	cotton	for	$30	per	Kg.	The	data	for	the	year	2016	is	given	below:-	Sales	in	Kg-	80,000	kgs	Finished	goods	inventory	at	the	beginning	of	the	period-	15,000	kgs	Finished	goods	inventory	at	the	closing	of	the	period-20,000	kgs
Manufacturing	costs-	Variable	costs-	$10	per	Kg	Fixed	manufacturing	expense	cost-	$	3,00,000	per	year	Marketing	and	administrative	expenses-	Variable	expenses-	$5	per	kg	of	sale	Fixed	expense-	$2,50,000	per	year	Through	the	above	information,	we	have	prepared	a	variable	cost	income	statement.Let	us	understand	how	this	statement	is
prepared.Sales	are	calculated,	which	is	a	total	sale	in	kgs,	i.e.,	80000	multiplied	by	per	kg	cost,	i.e.,	$30.=Total	Sale*Rate	per	kgCalculate	variable	Opening	InventoryOpening	Inventory	is	finished	goods	inventory	at	the	beginning	of	the	period,	i.e.,	15000	kgs	multiplied	by	manufacturing	variable	cost,	i.e.,	$	10.	So,=	finished	goods	inventory	at	the
beginning	of	the	period*	manufacturing	variable	costThe	variable	cost	of	manufactured	goods	is=(Total	sale	+	Finished	goods	inventory	at	the	closing	of	the	period	–	Finished	goods	inventory	at	the	beginning	of	the	period)*manufacturing	variable	costThe	variable	cost	of	good	available	for	sale=Variable	cost	of	manufacturing	goods	+	Opening
InventoryCalculate	the	closing	inventory	that	is=Finished	goods	inventory	at	the	closing	of	the	period*	manufacturing	variable	costNow,	we	will	get	the	Gross	contribution	margin.Gross	contribution	margin	=	Total	Sales	–	Variable	cost	of	goods	available	for	sales	-	closing	inventoryCalculate	variable	marketing	and	administration	expenses,	which
is=Total	sale*Variable	Marketing	and	administrative	expensesContribution	margin	calculated	i.e.=Gross	contribution	margin	-	variable	marketing	and	administration	expensesNow,	we	have	to	calculate	fixed	expenses=	Fixed	manufacturing	expense	cost	+	Fixed	marketing	and	administrative	expensesFinally,	we	will	get	net	operating	income=
Contribution	margin	-	Fixed	expensesTotal	Production	during	year	=	Total	sales	+	Closing	inventory	-	Opening	InventoryManufacturing	expenses	per	unit=Variable	expense	+	Fixed	ExpenseHence,	we	found	that	net	operating	income	with	variable	costing	income	principle.


